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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be Wntten on the
title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i)  All questions are compulsory.

(ii) Questions number 1-5 are of one mark each. The answers to these questions should
not exceed 20 words each.

(iii) Questions number 6-10 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Questions number 11-16 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v) Questions number 17-21 are of five marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.

(vii) Questions number 22-27 are of six marks each. The answers to these questions
should not exceed 150 words each.

L et o AR g e S o Qw0 e R § 2 1
(a) %WWMW%%WWW& |
by T Fior fehar farea g % <t e fepa T
(c) i g 3R 9 FaER, 1989 Ft arg fgam mAv |
(d) a& ST % S 9 3 TR s o |
Which one of the following statements about the Berlin war is false ?
(a) It symbolized the division between the Capitalist and the Communist world.
(b) It was built immediately after the Second World War.
(c) It was broken by the people on 9™ November, 1989.
(d) It marked the unification of the two parts of Germany.

2. g (TUEETEA.) B ST /b @ 2 . 1
Why was ASEAN established ?
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T A | oI Sfer F W@ SR w52 St 1 P sreran sEe oty e e
TATE HeH ST 2 1
Which one of the two is more essential — construction of mega dams or an
environmental movement that opposes it and why ?

T SoeTe i T 3 AT @ SEeTeel Hee A & el AT S o e 92 2x 5 =1

Which two objectives Jawaharlal Nehru wished to achieve through the strategy of
Non-alignment ?

et 3Rt & WallyeF 3 U8 i IR ST | 1
Highlight the most novel aspect of the Chipko Movement.

it g @ fdl ) wgw S Fastaratt 1 oo HiRAT | 2x1=2

Mention any two major military features of the Cold War.

“XEET AR % AT TG WS & T W T8 3 9 3 TSI @ T % GHME 6
UG A & 17 AT TH HUT § Fel 7% TEAd § 0 2

“The leaders of the newly independent India did not see politics as a problem; they
saw it as a way of solving the problems.” How far do you agree with the statement ?

frfefae =1 et faem =it dxVr=2
(A) (B)

(a) oIt ¥ Uit fammme fafe (i) % APRR

(b) 1974 ¥ {oTa ) EZAT W AT HAT  (1i)  STAWEHII AROT

(c) & ufydee § Miae 89 B B (iii) o1 wAed

(d) v fevma o g (iv) =mamfd Tu. ¥
Match the following : .

(A) (B)
(a) A politically controversial appointment (i) Charu Majumdar
(b) Led the Railway strike in 1974 (1) Jayaprakash Narayan
(c) Declined to join Nehru’s Cabinet ' . (iii) George Fernandes
(d) Died in police custody (iv) Justice A.N. Ray
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9. @m@i® 1950 %Wﬁ,%ﬂ%ﬁﬁ%@aﬁm@mwmmwmﬁﬁw
2 1966 T T F4 S T8 2 2

While the rest of the country was reorganized on linguistic lines in 1950s, why had
Punjab to wait till 1966 ?

10, R e B e S S R o 0 e 2

How was the reorganization of North-East India completed and by when ?

1. é\ﬂﬂ%ﬂ%aﬁaﬁﬁﬁrﬁmwaﬁaﬁﬁaﬁaﬁmaﬁWW? 4x1=4

In which four ways did the new economic policy of China benefit its economy ?

12. qﬁe‘rmw%?sﬂ%gﬁxaﬂﬁﬁf@m 1+3=4

What is Amnesty International ? State its main functions.

13. At gur @ & m%?mﬁwm%%wmaﬁw%ww
St e S T 2 2+2=4

What are ‘global commons’ ? Why is it said that international cooperation over the

global commons is not easy ?

14, A T HHY e B m%ﬁﬁmﬁmmﬁ%mﬁﬁfmmﬁﬂ%?m
=i | 4

What distinguished the dominance of the Congress Party in India from other

examples of one party dominance in other countries ? Explain.

15. wﬁﬁmm%W%meWWﬁml 4
Critically examine the major outcomes of the Indian model of mixed economy.
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16. 1977 % gl I ST TR A T TR 1975 # ST T SUH F FX T T B
1 ¥ fEar 2 =wen SR | 4

How did Janata Party make the 1977 elections into a referendum on the Emergency
imposed in 1975 ? Explain.

17. f&w T rEeRor Bt wgEE Tiew ol Fetetaa v % 3 ST 1+2+2=5

AW FI Geitae) arferar @ AN [ AE I 91 | T9H Haerd o fF 79 R

B ETEA § T e PRSI O | i SR @ et g ot B fafesaa @ s et

g Freft T 8 | 3% Siaia 15 i 9UET & i it saatas @ %

W A A FI A Wi A | e wR w el e § ager o i et

Tt & At wE Ed | 5w Gepwor o Tt oft Afeus o A Ay v @ A @ e

T |

@) R 3 it A Ffg Rt s § i aeE @ uREds e |

(i) TfEs E ST EE H FE agen S 9 ?

(i) I Rt et T @ FIE GRS T @, @ sdemEe # a9 % o
AT HIAE G 2

Read the passage given below carefully and answer the following questions :

Each of these countries was required to make a total shift to a capitalist
economy, which meant rooting out completely any structures evolved during this
period. Above all, it meant that private ownership was to be the dominant pattern of
ownership of property. Privatization of state assets and corporate ownership patterns
were to be immediately brought in. Collective farms were to be replaced by private
farming and capitalism in agriculture. This transition ruled out any alternate or ‘third
way’.

(i) Name any two countries which were required to make a total shift.

(ii) Why were the collective farms to be replaced by private farming ?

(iii) Since the ‘third way’ had been ruled out, what were the only two ways of
controlling the economy ?
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18, Fow T ST A o 3i e SRl o ST A 2+2+1=5

aa@ﬁw-wﬁm?w%%éﬁww%mwﬁmﬁmﬁﬁﬁm

b o8 wE w e e ¥ | g § FeERY I AR o A T TR #

T TEE STE g EERTER T ¥ A A | T e FOF T B 7 € T B

e § o F TS F wE 0R e st 4 g forn & for o e 3

qfA-seare gl 97 | ST T # W o A s SR e

et 1 e R §

() T S e | HH A T STELT G I VT T AT TL KT |

(ii) AR T & ETROT H = T ARTER] T S W ?

(i) SR o TR FE Wt e frelie & T E 7

Read the following passage carefully and answer the following questions :

At the most simple level, globalisation results in an erosion of state capacity,
that is, the ability of government to do what they do. All over the world, the old
‘welfare state’ is now giving way 10 a more minimalist state that performs certain
core functions such as the maintenance of law and order and the security of its
citizens. However, it withdraws from many of its earlier welfare functions directed at
economic and social well-being. In place of the welfare state, it is the market that
becomes the prime determinant of economic and social priorities.

(i) What do the words ‘erosion of state capcity’ imply ? Explain with the help of
an example.
(i) Why is the concept of welfare state giving way to a minimalist state ?

(iii) How has market become the prime determinant of social priorities ?

19. ﬁ%&qmmﬁmuﬁr&aﬁrﬁmﬁﬁaﬁwﬁ%wﬂm: 2+2+1=5

ST 3 T ST T ] T T A S S et e R e | A

mmm%ﬂmﬁﬁﬁwwwﬁﬁmaﬁﬁm#ﬁ%nﬁqg

W%lﬁﬂﬁmﬂﬁﬂhﬂﬂﬂﬁaﬁmﬁ%%%@ﬂ@@&%ﬂml

1973 ¥ 3RE-Z9TA T§ T A1 | T a1 g v | o o T SRR T g A | AE

mj#éﬁ%aﬁfﬁmﬁqﬁmﬁﬁlwsﬂwﬁaﬁmmﬁﬁﬁrwnm

F TpTeRf Tgd SO 9 T |

) ST 3 STUHT TR GTETU] SRS S AT ST 2

(i1) mﬁmmﬁmh,wmﬁmﬁﬁqmﬁﬁw,nﬂ%m
= T S 2

(iii) 1970%m%mﬁaﬁa%€m@maz=h%wmﬁﬁ%ﬂéa§ﬁa€nﬁ
ot ?
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Read the following passage carefully and answer the following questions :

When India conducted its first nuclear test, it was termed as peaceful explosion. India
argued that it was committed to the policy of using nuclear power only for peaceful
purposes. The period when the nuclear test was conducted was a difficult period in
domestic politics. Following the Arab-Isracl War of 1973, the entire world was
affected by the Oil Shock due to the massive hike in the oil prices by the Arab
nations. It led to economic turmoil in India resulting in high inflation.

(i) When did India conduct its first nuclear test and why ?

(i) Why was the period, when the nuclear test was conducted in India, considered
to be a difficult period in domestic politics ?

(iii) Which international event of 1970s was responsible for high inflation in India ?

20. i fu e B i wAEgEE ereEe S iR FrAfetan Tl & s ag
2+1+2=5

SINCE 1989

®

(i) WA % TuF OEt & T H A A, 2 F FREEE B Go R g5 a4 o9 ?
(iii) 1989 % wiE w1 Fratert ®, 9 & T % g aret I S fef o 0
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SINCE 1989

(i) Identify any four national leaders from the above cartoon and mention the serial
number of each.

(i) Which was the most controversial issue of the period related to leader No.2 as
Prime Minister of India ?

(i) What was the position of the party led by leader No.l in the Lok Sabha
elections of 1989 7

e Frefhad W e gheaTe wheit 3 o T TE 20 F @H W E |
2+1+2=35
(20.1) 1984 3 el @ Sratem § fr To 3 waifaes e it $i T e | 2
(20.2) 1990ﬁtrg'\uﬁaia%w%aﬁ#mmﬁﬁmfaammﬁﬂhm?
(20.3) fopg T T 3 AT ST U # e i e S e fee 2
Note : This following questions are for Visually Iplpaired Candidates only in lieu
of Q. No. 20. :

(20.1) Which party had won the maximum number of seats in Lok Sabha
Elections of 1984 and under whose leadership ?
(20.2) What was the most controversial decision taken by the National Front
 Government in 1990 ? |
(20.3) Which Prime Minister started the new economic reforms and what was
its outcome ?
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In the given political outline map of South Asia, five countries have been marked as
@, , © @ and @ Identify them on the basis of the information given below
and write their correct names in your answer book along with their respective serial

number of the information used and the concerned alphabets as per the following

format :

Sr. No. of the information | Alphabet | Name of Country

(i)  Animportant country but it is not considered to be a part of South Asia.

(i) The country has a successful Democratic System.

(iii) This country has had both Civilian and Military rulers.

(iv) This country had Constitutional Monarchy.

(v) An Island nation which was a Sultanate till 1968.

S gy W e sheafan wenmat ¥ o dem 21 ¥ wH W
g 2+1+2=5
(21.1) <o o & ra: e § N e fh S § 2
(21.2) a&mqﬁm%ﬁﬁﬁ%ﬁﬁaﬁmwmwﬁ%?

(21.3) =&F (SAARC) & T (SAFTA) & foreg =Y fafar |
Note : The following questions are for visually impaired candidates only in lieu of
Q. No. 21.
(21.1) The expression ‘South Asia’ usually includes which countries ?
(21.2) Which two countries of South Asia have successfully operated
democratic system ?
(21.3) Write the full forms of SAARC and SAFTA.

22. ﬁmmﬁmmﬁ%ﬁﬁwwwﬁqmﬁﬁwﬁaﬁw

T | 34+3=6
Srear
wmwﬁaﬁﬁa%%vﬁﬁw%ﬁm,m@ﬂnmﬁwﬁﬁwmaﬁ

amﬁaﬁw@%%?ﬁﬁamgﬁ%nﬁmﬁﬁmm?mﬁml 6

Hignlight any three positive and three negative features each of the Soviet system in
the Scviet Union.

OR
How far is it correct to say the international alliances during the Cold War era were
determined by the requirements of the superpowers and the calculations of the
smaller states 7 Explain.
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23. E TG FE & WY HRA F WY R WeR & 89 91T ¢ T AR §, 9 & 3ieT

i Tt gieet =t vy St | 3x2=6
Froar

T Rl T T R H e ST S R S W S e et e §

A TN, TF o105 ©9 3 & T soeemdt § | 3Ix2=6

Analyse the three different views within India about the type of relationship India
should have with the United States of America.

OR

Evaluate any three major factors responsible for making the European Union a
political force from being an economic force.

24. U Tl o oieRidig el weet @ v Site e ot froer sogear & s ae

T T fere # w5 | 3x2=6
e

STET R 1 TGN YROT § T A & 2 o6 R B GO ¥ e & a5 e

Wit | 2+4=6

Describe any three international challenging issues that can only be dealt with when
all the countries work together.

OR

What is meant by traditional notion of external security ? Describe any two
components of this type of security.

25. “stfg Hi B WA SR ST % SR OT AU USE S ST, U A e % 5

W T T 1 T He it e e % e w5 d srgee ad S | 3x2=6
rerar

WAl % UVl WRA H AT WM A s fen ¥ nieer § wetve weafy aer

srEHta % fafa= &t = wiee S | 3+3=6

“The accommodation of regional demands and the formation of linguistic states were
also seen as more democratic.” Justify the statement with any three suitable
arguments.

OR

Examine the different areas of agreement and disagreement with respect to the model
of economic development to be adopted in India after independence.
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